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Leamning is amore or less modification of behaviour,
e e ]

. \@)/Permanent
(A).. Temporary m
(C)w Fast - D) Slow

Which of the following laws necessitates creation of motivation in children before taking up
learning task ?

\_(Aa/Law of readiness (B) Lawofuse
(C) Lawofdisuse (D) Lawofeffect

The concept ‘zone of proximal development” occurs in the learning theory of
(A) Piaget : B Wyeotsky
(C) Kohler | (D) Thomndike

Which of the following psycholo gists advocated the idea of ‘congruence between real self
and ideal self ?

(Aj Lenygdtsky .y (B) Abraham Maslow

(C) JeanPiaget \(D)/Carl Rogers
Which of the following statements is true ?

(A) Learningand maturation are unrelated
(B)  Learning brings about maturation

Maturation creates favourable conditions for further learning

(D) Maturationisaresultoflearning

The approach to instruction that is the most beneficial and positive for all learers is :
(A) Teacher:centric | \_(B)/feqamer. centric

(C) Subject:centric (D) Knowledge:centric
Variety in content delivery formats in class room leads to -

(A)  Promotion of hard work by learners (B) Confusion among learners

(C) Promotionofuniformleaming = ., , \@/Betterleamir;gby diverse learners

Mt ’ \
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ich of the following ig . . .
g, Wh . 81sNOT, COmpopent of effective organization of learn; 2?
(A) Clearlearning ob; ectives earnin

@) Variedinstructional Strategies

C)~ Uniform instruction oy all studepts
@) Continuous assessmen; and feedback
9. Whatistheroleof scaffolding ip, Organizing learning ? )
(A) Tosimplify complex topics
@®) Tochallenge students wig, difficult tasks

M provide support to students while learning new skills
(D) Toprevent students from making mistakes

10. Ifachildlovesreading story books often, it is a case of ____motivation.
Wsic (B) Extinsic -
(C) Bothoftheabove (D) Noneoftheabove _—

11.  Which ofthe following is NOT a characteristic of self:learning?
Following teacher recommendedpace . (B)  Setting a personalized pace
(C) Havingautonomy . (D) Embracingresponsibility
12.  Which ofthe following is NOT a common group leaming activity?

(A) Groupdiscussion B (B) , Peerteaching
,£Q)/In/dividualizedmstrucﬁon (D) kCollaborativeprojects

3. Whichofthe followingisNOTaTLM? | »
(A) Computer | (B) Timelinechart

Macher 1v B (D) Textbook

14. Howis evaluation ﬁewed ina construct?ve perspective ?
(A) Asatool forjudgement
(B) Asameansofranking students
W process of providing feedback and fostering growth
(i))  Asa wa& to rc;inforce traditional teaching methods

- T.G.T.(PCM) (Code : PC) 3 P.T.O.
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15. Formative evaluation takes place:
(A) Attheend ofinstruction Muring instruction
(C) Beforeinstruction begins (D) Longafter mmplgttion ofinstruction
16. Whatisthe main goal of ‘assessment a8 learning® ?
(A) Toassign grades to students
&B)/TC” support s.tudents’ ongoing Jearning and deVelopment

(©)  Tomeasure students’ memory

(D)  To create competition among students

17. 'When observation of activities of a group ismade by a member of the same group being
observed, it is called :
\/(Ar)/PaIﬁcipant observation | (B)  Controlled observation

(C) Overtobservation (D) Incidental observation

18.  The ‘blueprint’ ofa test is prepared at stage of the test construction.

Planning /(B)  Preparing
(C) Tryingout (D) = Evaluation
19." Which ofthe followingisa &ifference between teacher:made test and standardized test ?
(A) Preparation of blueprint
(B) Inclusionof objective type test items
' \_(Q/F ixation of norms
(D) Provision for negative marking for Wrong answers \
20.

Whatis the primary purpose of using assignment as an assessment too] 9
M o evaluate students’ understanding and application of course materia]
(B) Toreduce workload of teachers

(C) Toteststudents’ memory

(D) Tokeep students engaged in study related activities

T.G.T.(PCM) (Code : PC) Contd
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'ch()lthefOHOWingiSN( )T a truc .()ll(}la“a h. ?
21. Whl conSideration n thc cons t1 chievement test 7 ]
1 ta e as i M 1
(A) %lgll g sSignment to dlﬂerent fo“] S Of test 1tems

®) Obj ectives of the test

(C) Content ofleaming

MgclO!&OllOImC condition of f, examinees

7). Whatis the purpose of selftassessment 7
@4 To replace traditional assessment techniques
(B) Toassessthelearning achjeyement of classmate friends
Wnable students to reflect on their own learning and progress
D) To lt?ssen the burden of teachers’ assessment work

23, Which of the following suggests that the test items should cover a representative sample of

the content being assessed ?
(A) Reliability | Mﬁdity
(C) Objectivity (D) Usability
24, Which of the following guides construction of test items ? |
(&) Abiliyofthestudenss .
(B) Quality ofteaching ina school
(C) Testitems availablein the textbodks for practice i)y students
\'/)/Ob_] ectives of instruction
25.  Which of the following is true for apartlcle undergomg uniform circular mot10n‘7
(A) Themagnitudeofthe cenmpetal forceis mdependent of the speed of the particle.

(B) The direction of the acceleration of the particle is always perpendicular to the direction

of velocity.

(C) Themagnitude of the acceleration of the particle is inversely proportional to its speed.

(D) The net force on the particle is zero.

T.G.T.(PCM) (Code : PC) 5 el P.T.O.
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26.

27.

28.

29,

30.

T.G.T.(PCM) (Code : PC) 6

etary motion, the planets of the solar systemrevolye

. s laws of plan
According to Kepler’sla ed of a planet in its orbit has :

: e
round the sun in elliptical orbits. Thesp
(A) themaximum value when itis farthest from the sun,

(B) aconstant valueatall points of the orbit.

(C)  the minimum value whenits distance from the sun is equal to the semimajor ax1s ofthe
elliptical orbit.

(D)  the maximum value when tis closestto the sun.,

From Hooke’s law of elasticity we can conclude that for a homo geneous isotropic material,

(A) strainis directly proportional to stress within elastic limit.

(B)  Young’smodulus s directly proportional to stress within elastic timit.

(C)  Young’smodulusis inversely proportional to stress within elastic limit.

(D) strainis independent of stress within elastic limit.

The sound wave produced by transverse vibration ofa stretched string is :

(A) atransverse wave

(B) alongitudinal wave

(C) asuperposition of transverse and longitudinal wavéé

(D) awave which cannot propagate in air.

Which of the following optical devices can produce a real image of a real object ?

(A) Convexmirror (B) Planemirror

(C) Concavemirror (D) Concavelens

Anelectric dipole is enclosed within a spherical region. The total electric flux over the surface
ofthe sphere s :

(A) proportional to the square of the radius of the sphere
(B)  proportional to the radius of the sphere

(©) proportional to the square root of the radius of the spﬁere
(D) zero
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31.

32.

33.

34.

35.
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A u»ansforméf converts :
(A) aDCvoltagetoan A Voltage
ACvolt
@) anACvoltagetoan AC Voltage o gy gher or lower value

(C) aDCvoltagetoaDC Voltage of higher or lower value

ACvol
(D) anACvoltagetoaDC Voltage ofhigher or lower value

A poirif particle having electrio ch
exists. The force on the Chargeq p

(A) zero
(B) alongthedirection ofthe magnetic field
(C) perpendicularto the direction of the magnetic field

arge @ moves inaregion where auniform magnetic field
articleis :

(D) opposite to the direction of the magnetic field

Aparticle Pis thrown up vertically. After some time another particle  is thrown up vertically.

Atagiven instant of time, P fa]ls down and O still rises up. Which of the following is true at
thatinstant ?

(A) Theparticle Phas downward accéleration and Q has up‘ward' acceleration
(B) Both P and Q have upward acceleration | |
(C) Both P and Q have downward acceleration

(D) Both P and Q have zero acceleration

The escape velocity on earth is::

(A) directly proportional to the mass of the earth

(B) directly proportional to the square root of the mass of the earth

(C) directly proportional to the cube of the radius of the earth

(D) independent of the mass of the earth

One mole of an ideal gas undergoes a process in which its pressure remains constant. Which
of the following is true for the gas ?

(A) The product of the pressure and volume always remain constant irrespective of the
temperature

(B) Theratio of the temperature to volume remains constant - - :
(C) The productof the volume and temperature remains constant

(D) Theproductofpressure, volume and temperature remains constant
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o definite frequency and a listener, located at a distance

ves 0 :
a peard by the listener will be more than the frequency

und Wi
. Asource produces SO -
* pears the sound. The frequency of .so

ced by the source if :
yes towards the [istener

om the listener

of sound produ
(A) thesourcemo

B)  the source moves away fr

‘ ce
(C) the listener moves away from the sour

both the source and the listener move away from each other

D) )
occur when light, travelling Ina transparent medium, is incident on :

37. Total internal reflection can
(A) another transparent medium of higher refractive Index

(B) another transparent medium of lower refractive index

(C) thesurface of aconvex mirror
(D) thesurface ofa concave mirror

38. The magnitudes of the electrostatic field and the electrostatic potential at a given point, due to
apoint charge, are E and ¥/ respectively. If the distance between the charge and the point
of observation is doubled, the magnitudes of the electrostatic field and the electrostatic potential
at the point of observation become respectively :

(A) 2E, 4V B) 3,%
EV '
© 7.3 ® 2E,ViV2
39. Kilowatt-houris an unit of :
(A) electric potential difference
(B) electrical energy
(C) electric power
(D) average power consumption by an cléctric device
40.  The STunit of mutual inductance s :
(A) weber (B) hertz
(C) ftesla (D)  henry
T.G.T.(PCM) (Code : PC) 8 Contd
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ich of the fi ing;
o MaXimum at the equilibrium position
(B)  Iskinetic energy the Mininyyy at the equilibrium position
(©) Tispotential energy i the may;mum at the equilibrium position
@) :)‘: t‘:;igmmde Ofthe restoring force on the particle s the masimum at e equilibrium
4. A so?id homc?geneous Sphere floats in water with two thirds of it’s volume submerged. The
specific gravity of the materig) o e solid is:
A) 173 ®) 3/4
© 283 @) 3/5
43.  Atnormal temperature and pressure, the speed of sound in a gas :
(A) isindependent ofitg density
(B) isdirectly Proportional to its density
(C) isinversely Proportional to its density
(D) isinversely proportional to the séuare robt 6f its density
44.  Theimage of an object formed on the retina of the human eyeis:
(A) virtual, erectand diminished
(B) real, erectand diminished - .
(C) real, invg:rted and diminished -
(D) virtual, inverted and diminished
45. The capacitance of a parallel plate capacitor :
(A) " isindependent of the area of the plate |
(B) isdirectly proportional th thevsepare’xtion between the plates
(C) "is invergely proportional to the area of the plate
(D) - isinversely proportional to the separation between the plates
T.G.T.(PCM) (Code : PC) 9 P.T.0.
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. . of uniform cross section is doubled on jtself. Its electrical TeSistane :
46. A straight conducting wir¢0
(A) isdoubled
B) isreducedtohalfofits nitial valv®
(C)  isreduced to one fourth of its nitial value
(D)  remains unchanged
47. InanAC circuit containing aresistorand 8 capacitor, the reactance of the capacitor ;
(A)  depends on the value of the capacitance but is independeng of the frequéncy ofthe AC
(B) isinversely proportional to the frequency of the AC
(C) isdirectly proportional to the frequency ofthe AC

(D) isdirectly proportional to the square rootof the frequency of the AC

48.  Aparticle, starting from rest, moves alongastraight line with constant acceleration, A graph

is plotted with time along the X-axis and the speed of the particle along the Y-axis. The area
under the speed versus time graph, upto a given instant of time, gives : ”

(A) thetotal work done by the particle during the time interval .
(B) thefinal speed attained by the particle at the giveninstant of time -
(C) the acceleration of the particle at the instant of time

(D)  thetotal distance travelled by the particle upto the instant of time

49.  Anideal fluid flows at a constant rate through a tube of uniform cross gecﬁon, when its ends

are maintained at a constant pressure difference_ Sy

Ppose the internal radius of the tube is
reduced to half of its value. In order.to keep the

ate of flow of the fluid unchanged, the
pressure difference between the ends of the Pipehas to be -

(A) increased two times (B)‘ increaseq four fimes

(€) increased eight times @) incteaseq sixteen times

T.GT.(PCM) (Gode : PC) 10 (MO TEEME.
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50.  One mole of
OXygen 8as ¢ NTp .
(&)  6.023x1023 leeu] P is equal to :
ule
B)  6.023x102 g foxygen
©) 16 > Ofoxygep |
gm of oxyge
@) 8gmof OXygen
51.  Nitrogen hag the g]
e .
Clronic Configuration of 1572522 pl 2 )l 5 1 7
(A) Pauli’s eXclusion . G
Pl'lnClple (B) Aufbay principle
(C) Hund’s my)e of my}¢
Iplicity (D)  Uncertainty principle
52. The angular Momentyy, .
® 2 _ of an electron is zero. In which orbital may it be present?
s
®) 2p
© 34 © 4
53. Amo
ng the halogens, the correct order of electron gain enthalpy is :
A) F>Cl>Br>g B) F<Cl<Br<]
©) F<Cl>Br>g M) F<ClLBr>1
54.  The electronic configuration of elements A, B, C are given below :
A =15%2522,5 B = 1s22s22p63§23p3, C = 15225%2p%3523 5
The bond between B and C will be
(A) Ionic (B) Covalent
(C©) Co-ordinate covalent (D) Metallic
55.  Which of the following molecules is linear?
(A) CO, ®) ccl,
©) H20 . (D) ,NH3
56. Which of the following properties of water can be used to explain the spherical shape of
rain droplets? '
(A) Viscosity (B) Surface tension
(C) Fugacity | (D) Fluidity
T.G.1.(PCM) (Code : PC) " e
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57.

38.

59.

60.

61.

62.

63.

T.G.T.(PCM) (Code : PC)

(A) Flux

Real gases behave ideally at :

(A) low pressure and high temperature
(B) high pressure and high temperature
(C) low pressure and low temperatur®

(D) high pressure and low temperature
Which of the following is not a redox reaction?
(A) CuO +H, > Cu+H0

(B) Fe,0; + 3CO — 2Fe + 3C0,

- (©) 2K +F, » 2KF

(@) BaCl, + H,SO, - BaSO, + 2HCI

For the reaction Ny(g) + 3H,(g) = 2NH,+21KCal formation ammonia is favoured by:
(A) high pressure and low temperature '
B) low pressure and high temperature
(©) low temperature only

(D) low pressure only ;
For the reaction H,(g) + L(g) ;_—xe_ 2HI(g)
(&) Kp =K,

®) KP<KC
© KP>KC '

®) KP=KL

. The pH of 2 0.001M NaOH solution is . ‘

A 3
<o 7

® 1
®) 14

The impurities associated with an
ore after minjp ;
g1s called :

®) Slag

_Contd.

Scanned by CamScanner



64. The IUPAC name of the Compoyng

A
@)

(A)  2,3-dimethyl pentanoy] chloride
(B) 2,4-dimethyl pentanoyl chloride
(C) 1-chloro-1 -oxo—2,3-dimethy1 pentane
D) 2-ethyl-3 -methylbutanoy] chjoride
65. Consider the following carbocations :
@ ¢ @) oLl Gy e @) OHs
The order of stability of the catjons is

(A)  (iv) <(i) < (i) < (i) @) (i) < (ii) < (iii) < (iv)
©) () <(@) < (i) < (i) @) (iv) < (if) < (i) < (iii)
66. Which of the following species is not an electrophile?
@ c® B) BH, -
@ e .
©€) H0 . (D) NO;
67. Which of the following is a substitution reaction?

(A) NH,CNO —2_"NH,CONH,

e LS
B) OH + CHCl, —> &Cl + H,0 + CI
(C) CH,+ Cl, — CH,Cl + HCI

D) Cls-2-butene —hL* trans-2-butene

' 68. When CH;COONa is heated with sodalime, the gas formed is :

A) CH, ' B) CH,

(C) C,Hg D) C,H,
69. In the following sequence of reaction, the product ‘C’is:

CH;~CH-CHz-CH; _8lcKOH 4, O ,p ——-> C
Br

(A) CH;CHO (B) CH,;COCH;,4

(C) CH3—CH=CH2 (D) CH4
T.G.T.(PCM) (Code : PC) 13 P.T.O.
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s . H f)
. :se alkaline KMnO,?
70.  Which of the following will decolour’ i
2ty
(©) CH, -
ic species?
71. Which of the following is not an aromatic SP¢
) [

@ ) ® L
© 1 D) Q

72. —Br —Na__ |
CZHS Br Dry Ether C4H1°
The above reaction is called :
(A) Wurtz reaction (B) Fittig reaction
() Wartz-Fitting reaction (D)  Williamson’s synthesis

73.  The product ‘A’ in the reaction '

@ + CHy-CH,-CH,~C| A8,
is:
CHs; = CH;
CH>-CH,—CHj; Ne”
(A) ®
CH3 CH;-CH;
© D)
74. A metallic carbide on treatment with water gives a colourless gas with garlic odour, The

gas formed gives a precipitate with ammoniacal AgNO 3 solution. The gas formed is :
(A) CH, - ®B) CH,
© CH, @) CH |

T.G.T.(PCM) (Code : PC) _ 14
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75.

76.

71.

78.

79.

T.G.T.(PCM) (Code : PC)

Aclasshas 175 stude \ S

Physics, 40 students for;ta?ut_ofthese, 100 students opted for Mathematics, 70 students for

forboth Mathematics Cmistry, 30 stydents for both Mathematics and Physics, 28 students
and Chernistry, 23 students for both Physics and Chemistry, 18 students

for Mathematics, Physicg 5
’ nd . .
Mathematics only ? Chemistry. Then how many students in the class opted for
A 60 ®) 48
© 38 D) 26

Forthesets P, Qand R, Consider the following :
(1) P-Q=P-(PN g

@ P=@NQOU(P-g,

@) P-QUB=2-9) P-B.

Choose the correct option, .
(A) Only(2)istrue. ' (B) Only (1) and (2) are true.
(C) Only(1)and (3)are trye, @) (1), (2)and (3) are true.

On the set X= {1,2,3}, what is the number of relations containing (1,2) and (1,3), which are
reflexive and symmetric, but not transitive ?

A 5 B) 3 ' /

© 2 O 1
LetP=[-1,1]=Qand S =[0,%). Consider the following relations :

(1) Therelation R ={xy)eP xQ:x’ :l-yz =1} is a function from P into Q.

2) TherelationR,={(x,y) € PxS:x’+y’ =1} isafunction from Pinto .

Pick out the correct option.

(A) Only(1)istrue. (B) Only(2)istrue.
(C) Both (1) and(2)are true. (D) Both(1)and (2) are false. s
.. | 441 '
Which one of the following is true for the number =3 5 7.
2°x5°x7

(A) Ithasaterminating decimal expansion..

(B) Ithasanon-terminating, non-repeating decimal expansion.

(C) Ithasanon-terminating, but repeating decimal expansion.

(D) Ithasaterminating decimal expansion after two places of decimal.

15 P.T.O.
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utionsetof the inequality [2x+3(>57

80. ;\’gﬁclzone of :rhe following is the s0 ®) (,)
—00 —
O Cor Ui ® ey e
= ) U ( ’00) 2 bx+c=Oandpn= a“'l'ﬁn(ne N)’thenWthh
81. If &, Bare roots of the equation: ax’* vo 4op. 2
one of the following is the value of ap, ;¥ Pa? e l
@A) 0 (B)
= »0,, C, ar'
82.  Ifthe pair of linear equations : a,x +b,y+¢,= 0404 &X + By +¢, =0 Eai’;? B
real numbers and a, b, ,a,,b, are non-zero real pumbers) represent parallel lines,
one of the following is true ?
b~ e
@ b 4.2,48
@ o7 B L rdewe
a_b G _B_a
© 7% D) G TG
10 10
83. lim (4" +(x+2)" 4 @+100)7 . L.
X—0 xlo +1 010
@A 1 ®) 10
© 102 D) 10"
tioae® a’ + b, b#0,x<1
84. Ifth tion fd R = e i i
e function fdefined on R by £(x) B Tl ps 1s continuous
and differentiable at x =1, then which one of the following is true ?
(A) a=2b,c=0 B) a=b,c eR
(©) a=b,c=0 D) 2a=b,c#0
85.  For the function /(x) = (x+2) € * (x R ), which one of the following is true ?
(A) fdecreasesforallx eR. :
(B) fdecreasesin (- o,-1) and increasesin (-1,).
(C). fincreasesforallx eR.
(D) ' fincreases in (— «,—1) and decreases in (-1,0). ,
86. Let the sum of three numbers in Geometric Progression be 14. If 1 is added to th
second number and 1 is subtracted from the third number, then the ne\:/ numbecflsrztr:?i
Arithmetic Progression. The smallest of these numbers s -
A 2 . ®) 4
© 6 O 8
T.G.T.(PCM) (Code : PC) 16
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87. Thesum ofthe series : 1+£{+£ 4}
2 TR TRETE
@A) e _ @) xe*
O, &+ e D) 1+xe inate of the
88. P isapoint on the. line Segmentjoining the points (2,2,1)and (5,1, 2).Ifx-coordinate of.
point Pis 4, thenits z-coordinate is:
@) -1 ® 0
e o i ircle, then the
89. Ift}.lep]anex +2}"2=4cutsthespherexz'*'}’z"'zz"x"'z_z = () in a circle,
radius of the circle is :
A) 3 ®) 2
©) 2 . D 1 :
90. Ifthe a;/e—a of a triangle with vertices (— 3,0)» (3:0) and (0; k) is 9 sq. units, then the value
of kis:
A 2 B 3
€ -5 D) -4 e ,
91. Inwhatratiois the lin segment joining the points (- 6,15)and (3,5)1s divided by the y-ax1s
internally ? ’ [ _
@A) 2:3 B) 3:2
€ 2:1 @) 1:2 _
92. Ifacircle touches the x-axis and also touches the circle with center (0,3) and radius 2, then
the locus of the center of the circleis : .
(A) ahyperbola (B) aparabola
(C) anellipse . (D) acircle
93. Consider the following relations for two events EandF:
(1) Prob(E N F) > Prob (E)+ Prob (F)-1.
(2) Prob(E U F)=Prob(E)+ Prob (F) + Prob (E N F).
(3) Prob(E U F) < Prob (E) +Prob (F) ..
Which of the above relation(s) is/are correct ?
@) (Donly . ® @only
(© (1)and(3)only - ® (1), and(3)
94. Inanexperiment, positive and negative values are equally likely to occur. The probability of
obtaining at most one negative value in 5 trials is : ‘
. 1 1
@ 33 ®) 16
3 3
(C) 32 (D) E
T.G.T.(PCM) (Code : PC) 17 __ ST
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95. What is the variance of the first 10 natural numb<3r_s ?

A 7 ®B) 7.25
©) 8 ) 825
96. Ifthe Mean and the Mode of a data sample aré 35 and 30, then its Median is :
A) 19 ®B) 26
(C) 33.33 \ ®) 75
97. When the length of the shadow of atree is /3 times the hej ght of the tree, what is the angle
of elevation of the Sun ?
A) 30° ®B) 450
(C) 60° D) 9p°

98. If 0 = & <2z, the solution of the trigonometry equation: sin (6) +cos(8)= .2 is:

@ 7 ' ~®
3
© o =

99. Thelateral surface area of a cone is 1% times larger than its base area. If the height of the

" coneis? cm, then the surface area of the cone is :
(A) 135ncm? B) 138 ncm?

(C) 142 7 cm? O) 147 1 om?

100. A horse is grazing in a field. It is tied to a pole with a rope of length 6 metres. The horse

moves from a point P to a point Q making an arch with an angle of 70° . The area of the
sector grazed by the horse is :

(A) 20.99 sq. metres. (B) 21.99 sq. metres.
(C©) 22.99sqg. metres, - (D) 23.99 sq. metres.
)
T.G.T.(PCM) (Code : PC) . 18
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